


Question 2 
 
Sample 1 
 
Couret and Venter look at sum of squared error for the holdout relativity next to three things: 

1) Total hazard group relativity 

2) Prediction based on raw data 

3) Prediction based on credibility procedure 

 
1) Sum of squared error = (1 – 0.6) 2 + (1 – 0.8) 2 + (1 – 1) 2 + (1 – 1.2) 2 + (1 – 1.4)2 = 0.4 

2) Sum of squared error = (0.3 – 0.6) 2 + (0.5 – 0.8) 2 + (1.1 – 1) 2 + (1.9 – 1.2) 2 + (3 – 1.4)2 = 3.24 

3) Sum of squared error = (0.4 – 0.6) 2 + (0.7 – 0.8) 2 + (1 – 1) 2 + (1.5 – 1.2) 2 + (1.8 – 1.4)2 = 0.3 

 
Since #3 produces the lowest sum of squared errors, the credibility procedure is an 
improvement over #1 (hazard group membership) and #2 (using actual data). 
 

Sample 2 
 
SSE for Raw = (raw ‐ holdout)2 

       = (0.3 – 0.6) 2 + (0.5 – 0.8) 2 + (1.1 – 1) 2 + (1.9 – 1.2) 2 + (3 – 1.4)2 = 3.24 
SSE for Cred Proc = (cred – holdout)2 

   = (0.4 – 0.6) 2 + (0.7 – 0.8) 2 + (1 – 1) 2 + (1.5 – 1.2) 2 + (1.8 – 1.4)2 = 0.3 
Yes, the credibility technique produces a lower SSE when compared to holdout (0.3) than the 
raw data (SSE of 3.24). 
 


